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x - cos (x)dx
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u‘(x) =

cos(x) v(x) =sin
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=[x - sin (x)]*% f 1-sin(x) dx
=[2m - sin (2n) — (—1) - sin (—1)] —

[—cos(2m) + cos (—1)]
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7. fn(4x —5) - sin (x)dx
0

= [(4x — 5) - (—cos ()5
=[(4m = 5) * (= cos(m)) — (=5) * (= cos(0))] -

f 4 - (—cos (x)) dx
[—4sin (x)]§

u(x)=4x—5 u‘(x)=4 = [(4r — 5) - (—(~1)) — (=5) - (=1)] — [ =4 sin(r) + 4sin (0)]
v‘(x) = sin(x) v(x) = —cos(x) =[(4m —5) — 5] —
=~ 2,567
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8'_[ X2+ o3y = [xz i-e4x—3]1 ff 2x-i-e4"‘3dx
1

u(x) = x2 u‘(x) = 2x
V)= e 3 yp = tetr3 |~ 182313 [[7x 5 e4x-3]3 — )32 e 3dx]
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3 1 11 4 3]?
u(x)=%x u’(x)=% =18231,3 —[(; e’ —5-eh) - [5'1'94 3]1]
V(x) = 3 y(x) == -e#*73 | ~18231,3 - [303832 —(-e®——-eV)]

~ 18231,3 — 3038,32 + 253,139 = 15446,1
. fnxz - cos (X)dx =[x+ sin (x)]7 f 2x - sin(x) dx
0 = [m? - sin(m) — 0] — [2x * (—cos (x)]7 f 2 - (—cos(x))dx]

u(x) = x* u(x) = —[2m - (= cos(m) — 0 — [-2 sin(x)]F]
v'(x) = cos(x) v(x)=sin(x) = 21 - cos(1) =0
u(x) = u‘(x) = ~ —6,283
v(x) =sin(x)  v(x) = —cos(x)
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